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(5) Suppose f : Rn −→ Rn is differentiable and has an inverse function f−1 :
Rn −→ Rn which is also differentiable. Show that:

[J(f−1)](a) = [(Jf)(f−1(a))]−1

We have that ff−1 = I where I is the identity map. Now, clearly JI(a) = I for all
a, and applying the chain rule to the left hand side gives us [Jf(f−1(a))][J(f−1(a)] =
I, and so, [J(f−1)](a) = [(Jf)(f−1(a))]−1 as desired.

All of you got this problem right.
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